




M10x35(10.9)

72Nm

M10x35(10.9)

72Nm

M6x20(10.9)

20Nm

M12x22(100)

150Nm

M12x22(100)

150Nm

M10x35(10.9)

55Nm

M10

52Nm

M10

52Nm



MONTAGEHANDLEIDING:

Voordat u met de montage begint dient u op het typeplaatje te kijken
welke schets in de handleiding van toepassing is.

Raadpleeg voor demontage en montage van voertuigonderdelen het
werkplaatshandboek.

Raadpleeg voor montage en bevestigingsmiddelen de schets.
Raadpleeg voor montage en demontage van het afneembare kogel-

systeem de bijgevoegde montagehandleiding.

BELANGRIJK:

FITTING INSTRUCTIONS:

Before you start the fitting you must check the type plate to determi-
ne which sketch, in the fitting instruction, is applicable.

For dismantling and fitting the vehicle parts, see the site handbook.
For fitting instructions and attachment method, see drawing.
See the assembly manual supplied for instructions on fitting the

removable ball system.

NOTE:
* Should this installation process entail the cutting of the bumper –

conformation MUST be obtained by the installation engineer of the
customer’s acceptance prior to completion. Brink Towing Systems
B.V. do not accept responsibility for any matters arising as a result

NL

GB



of this miscommunication.
* All measurements are in mm!

* Do not drill through electrical-, brake- or fuellines.

MONTAGEANLEITUNG:

Vor Beginn des Einbaus ist anhand der Typplakette der Anhänger
kupplung festzustellen, welche Einbauskizze in dieser
Montagean leitung die richtige ist.

Für die Demontage und Montage von Fahrzeugteilen das Werkstatt-
Handbuch zu Rate ziehen.

Für die Montage und die Befestigungsmittel die Einbauskizze zu
Rate ziehen.

Für die Montage und Demontage des abnehmbaren Kugelsystems
die beiliegende Montageanleitung zu Rate ziehen.

HINWEISE:

* Vor dem Bohren prüfen, daß keine, dort eventuell vorhandene
Leitungen beschädigt werden können.

INSTRUCTIONS DE MONTAGE:

Avant de commencer le montage veuillez,  vérifier la plaque signalé-
tique de l’attelage afin de d'identifierr l'illustration correspondan-

D

F

DA COMPILARE PER IL COLLAUDO

6483



Cutout

Heat shield
Heat shield

Outside BumperM
id

dl
e 

bu
m

p
er

Underside bumper

210

Cutout

6
0

45

te dans la notice de montage.

Pour le montage et le démontage des pièces du véhicule, consulter
la notice du fabricant.

Consulter le croquis pour voir le montage et les moyens de fixation.
Pour le montage et le démontage de la rotule amovible, consulter la

notice de montage jointe.

REMARQUE:

* Veiller en perçant à ne pas endommager les conduites de électri-
que, de frein et de carburant.

MONTERINGSANVISNINGAR:

Innan du st art ar mont e ringen måst e  du kont rolle ra t ypskylt en för at t

kunna bedöma vilken skiss i mont e ringsanvisningen som ska använ-

das.

Se verkstadshandboken för demontering och montering av fordo-
nets delar.

Se figuren för montering och monteringsmaterial.
Se de bifogade monteringsanvisningarna för montering och demon-

tering av det löstagbara kulsystemet.

OBS:

S



* Vid borrning skall man se till att elektrisk-, broms- og bränsleled-
ningarna inte skadas.

MONTAGEVEJLEDNING:

I

Rådfør værkstedshåndbogen for demontering og montage af dele til
køretøjet

Rådfør for montage og montagemidler skitsen.
Rådfør for montage og demontering af det aftagelige kuglesystem

den vedlagte montagevejledning.

BEMÆRK:

* Vær forsigtig ikke at bore i ledninger-,bremse elller benzinslange

INSTRUCCIONES DE MONTAJE:

Antes de comenzar el montaje por favor, verifique la placa descripti-
va del enganche con el fin de determinar la figura correspondien-
te en la reseña de montaje.

DK

E



A jármű alkatrészeinek szétszerelési és összeillesztési m ját lásd a
munkahelyi kézikönyvben.

Az összeillesztési útmutat  és az alkatrészek csatlakoztatási m ját
lásd a rajzon.

Az eltávolíthat  gömbrendszer összeszerelése érdekében, lásd a
összeszerelési kézikönyvet.

FONTOS:

* Fúrás során ügyeljünk arra, hogy elkerüljük az elektromos, a fék- és
az üzemanyag-vezetékeket.

РУКОВОДСТВО ДЛЯ МОНТАЖА:

Перед тем, как  начинать монтаж , требуется проверить табличку
с типом изделия для того, чтобы  определить какую  именно

из  иллюстраций  в инструк ции по  установк е нужно
использовать.

Для инструкций по снятию  и установке деталей автомобиля,
обращайтесь к  руководству для работников гаражей.

Информацию  о монтаже и средствах крепления вы  найдете в
схеме.

Для инструкций по установке и снятию  съемного крюка с
шаром , обращайтесь к  прилагаемому рук оводству по
монтажу.

ВНИМАНИЕ:

* При сверлении следите за тем, чтобы  не задеть электроп
роводку и линии тормозной цепи и подачи горючего.

RUS

Consultar el manual de instalaci  de taller para el desmontaje y
montaje de piezas del vehículo.

Consultar el croquis para el montaje y medios de fijaci .
Consultar para el montaje y desmontaje del sistema de la bola extraí-

ble las instrucciones de montaje adjuntas.

N.B.:

* No agujerear cable de eléctrico, tubos de freno o gasolina"

ISTRUZIONI PER IL MONTAGGIO:

Prima di iniziare il montaggio verificare la terghetta identificativa per
determinare quale disegno, presente nelle istruzioni, è applicabi-
le.

Per lo smontaggio ed il montaggio dei componenti del veicolo con-
sultare il manuale tecnico dell’officina.

Consultare il disegno per il montaggio ed i dispositivi di fissaggio.
Per il montaggio e lo smontaggio del sistema a sfera rimovibile, con-

sultare le istruzioni di montaggio allegate.

N.B.:

* Praticando i fori, prestare attenzione a non danneggiare i cavi elet-
trici, i cavi del freno e i condotti del carburante.I



INSTRUKCJA MONTAŻU:

Przed rozpoczęciem montażu należy sprawdzić tabliczkę znamio-
nową, aby ustalić, kt y z rysunk w znajdujących się w instrukcji
montażowej należy wykorzystać.

Co do montażu i montowania części pojazdu zapoznać się z
podręcznikiem warsztatowym.

Co do montażu i środk w montażowych zapoznać się ze schematem.
Co do montażu i demontażu zdejmowanej kuli zapoznać się z

załączoną instrukcją montażu .

WSKAZó WKI:

* Podczas ewentualnych odwiert w upewnić się czy w pobliżu nie
znajdują się przewody instalacji elektrycznej, przewody hydrau-
liczne lub przewody paliwowe.

ASENNUSOHJEET:

Ennen asennusta selvitä tyyppikilvestä, mikä asennusohjeen piirros
koskee kyseistä autoa 

Ajoneuvon osien purkamis- ja asennusohjeet, ks. työpaikalla käytet-
ty käsikirja.  

Asennus- ja kiinnityohjeet, ks. piirros.
Irrote ttavan kuulajärjes te lmän asennus- ja  purkamisohjeet, ks . ohe inen

asennusopas.

PL

SF

TÄRKEÄÄ:

* Porattaessa on huolehdittava siitä, että ei jouduta kosketuksiin
sähkö-, jarru- tai polttoainejohtojen kanssa. 

POKYNY K MONTÁŽI:

Před instalací je nutno zkontrolovat typový štítek, abyste zjistili,
který nákres v pokynech pro instalaci máte použít.

Před demontáží a montáží částí vozidla konzultujte montážní
příručku.

Montážní pokyny a metoda připevnění dle náčrtu.
Před montáží vyměnitelného systému tažné koule konzultujte mon-

tážní manuál.

DŮLEŽITÉ:

* Při vrtání dbejte zvýšené pozornosti, zejména co se týče elek-
trických, brzdových a palivových kontaktů. 

SZERELÉSI ÚTMUTATó :

Mielőtt rögzítené az eszközt, ellenőrizze a típustáblát, hogy a rögzí-
tési útmutat  alapján melyik ábra alkalmazand

CZ

H


